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= o
A & 0l & AF 2 E A A
20198 = =0l &b 2B M
N e SN OIS
R IR D= NS
S MUEXIXEOI=00e (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
Off LA I &He 6,551,528 5,053,420 1,498,108
= 876,000
J| 5,042,699
= 632,829
Ol 4 KIS RHRI O & 6,308,128 4,867,940 1,440,188
= 876,000
J| 5,042,699
< 389,429
Ol X XD =00 e 60,000 0 60,000
AHEAMNL I =0 LRO(BIMEE XA ) 60,000 0 60,000
308 XX EHHSOIA 60,000 0 60,000
10 SII 2 SOICHeHE & X 2 E A I 60,000 0 60,000
OSEA4ZESRNNEAMEARES 60,000
HUXNSERLX A 31,800 41,000 A 9,200
PRSI/ B= N g 31,800 41,000 A 9,200
201 Let24d] 27,000 27,000 0
01 At 22/l 13,500 13,500 0
Ost=2H] 4,500
OsRIieEReS 4,500
O=2g8=¢ 9,000
OUHNEHNEE 9,000
03 &Ar2 I 13,500 13,500 0
O3 =2C0UNEENFTUHE 13,500
203 YR =&l 4,800 14,000 A 9,200
03 AIMZ=XH 2 Z=AH| 4,800 14,000 A9,200
OoddXOIZ=EstEgRF2 4,800
ATHAENHXNES KA 3,476,928 1,087,660 2,389,268
J| 3,244,799
< 232,129
KNSR AAS (HE) 152,009 340,680 A 188,671
J| 68,404
< 83,605
401 A& HIZ 201 Y| 152,009 340,680 A 188,671
J| 68,404
< 83,605
01 A& HI 152,009 340,680 A 188,671
CATHAEMH XX S X2 AS (A A ) 152,009
J| 68,404
< 83,605
KNAXN A (Ex) 3,304,919 746,980 2,557,939
J| 3,176,395
< 128,524




A= gsig=R AR & PARN =2 ln)
R IR D= NS
S AHMHEXES XA (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
402 BI2FX=01 M 233,680 229,840 3,840
J| 105,156
< 128,524
01 2I2E 2 A B (KR &) 233,680 229,840 3,840
OAMMAIUX NG XAS (ZEHAEMT) 233,680
J| 105,156
< 128,524
403 MHXISHE X201 & 3,071,239 517,140 2,554,099
J| 3,071,239
01 X SN2 E=x 3,071,239 517,140 2,554,099
CTAITH A Off L KT KT < XT&AHS 3,071,239
J| 3,071,239
Hel ==X &AL 20,000 0 20,000
201 Let24d] 5,000 0 5,000
01 At 22l 5,000 0 5,000
Oggt=2tl 5,000
OA=0SHAHIS 5,000
301 et a3z 15,000 0 15,000
07 QBI=H I 15,000 0 15,000
DM HMUXI20FHEE I =A== 15,000
gl X0l S¢g el st 941,500 1,437,680 A 496,180
= 876,000
< 65,500
AEHNRE=REERA 65,500 67,680 A 2,180
201 L Er2A | 20,000 23,180 A 3,180
01 At 22l 20,000 23,180 A 3,180
Ogpt=2tl 20,000
OXlgiHXNBAE 2SS 20,000
202 04l 4,500 4,500 0
01 S LHOIYI 4,500 4,500 0
OXSHUXAIE LN AR Z2A S 2= 4,500
303 L& 3 5,000 4,000 1,000
01 243 5,000 4,000 1,000
OUUXIZARAlZ Al 5,000
307 glz2+ol & 36,000 36,000 0
02 YAFHAANFEE 36,000 36,000 0
OduUuXZEAdHE s 27,000
OUXEASSUHAXR 9,000
NEEZAY(BX) 876,000 1,370,000 A 494,000
= 876,000




A= gsig=R AR & PARN =2 ln)
EE BN IEPE B BT
¢ i XolEgelst cet )
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
403 UHXSHHSA=0l& 876,000 1,370,000 A 494,000
= 876,000
01 HXHMA=LE X 876,000 1,370,000 A 494,000
OX<SolH X &AL 876,000
= 876,000
dxeae] 1,797,900 2,301,600 A 503,700
J| 1,797,900
HIEASHNUXNSXAIG (BX) 1,797,900 2,301,600 A 503,700
J| 1,797,900
403 UtXISHH S0l & 1,797,900 2,301,600 A 503,700
J| 1,797,900
01 X SHMA=2EE 1,797,900 2,301,600 A 503,700
OFAHSHH X=X A 1,797,900
J| 1,797,900
ol oty 108,000 108,000 0
MEOLXOEE 2S5 108,000 108,000 0
MENUXAEESS KR 108,000 108,000 0
307 glz2+ol & 108,000 108,000 0
02 QIZtE M AHE X 108,000 108,000 0
O& M el 2H0ll L Xl = XA X & 108,000
822 (0l LI Xl A D) 135,400 77,480 57,920
=&l 135,400 77,480 57,920
Jl= 3 135,400 77,480 57,920
201 et 35,000 36,480 A 1,480
01 At 22l 33,000 34,480 A 1,480
Opt==Hl 20,000
OJI2MNRESHILIIEI=2HI 20,000
[E=3=3:] 13,000
ONU X &SR F=E G4l 13,000
02 =224l 2,000 2,000 0
A& ZHl s Xl 2,000
OMEEIIJIS 2,000
202 Odl 45,000 41,000 4,000
01 = LH 4 bl 45,000 41,000 4,000
O X &Y S =804 45,000
203 YR =2l 3,000 0 3,000
04 EASIYRFEH 3,000 0 3,000
11501 ot 3,000
405 XtAtFE SHI 52,400 0 52,400
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Az BsoidER M oot
HE: ooy MeY s
Sl 0PI YRR CERED
2 . - 4 14
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
01 XY 2 ZFH S| 10,000 43,000 A 33,000
O0EXNEadH 2 10,000
& ZHIXI2 AL 275,150 372,000 A 96,850
403 MtXISHHE X201 & 275,150 372,000 A 96,850
01 XM A=2EE 275,150 372,000 296,850
O&EHI X2 A 200,000
O T4 75,150
HEBAGRAZMLAFE 284,800 290,000 A5,200
201 LBH2d| 164,000 145,000 19,000
01 At 2t 2/l 151,000 132,000 19,000
Ogpt=2Hl 30,000
O SMLINELAEZRAS 30,000
O2g==g 2,000
OAUZE3 &g 2,000
OoflgdsdtEUsE 119,000
03 A2 Z Hl 13,000 13,000 0
OANAHEE S &It 13,000
203 ¥ S =&l 4,800 5,000 2200
03 AIHZ=AH =X 4,800 5,000 A 200
OgEIMLaG 22 4,800
308 XX EHSOIA 116,000 140,000 A 24,000
01 AXNSHHBLAEES 116,000 140,000 224,000
Oofl S MM IS XA 20,000
OHASHAHL L2 ZAE2IE 96,000
SSoHAANHEEH S =ML EAHESEESH 200,000 0 200,000
207 Ao &y 200,000 0 200,000
01 2284 200,000 0 200,000
OSSHIANNDSHL LML T Y 22 200,000
CHR X QI 2 )| & X 404,200 460,100 A 55,900
s 376,000
< 28,200
403 XSS =0l & 404,200 460, 100 255,900
s 376,000
= 28,200
01 XM A2E X 404,200 460, 100 A 55,900
OUeXIAI LI (FSEH) 404,200
s 376,000
< 28,200
CRII2AFH EH UM AR 498,539 549,900 251,361
= 383,492
< 115,047




Az gsiga: M ool =4kt
HE: ooy MeY s
CHel: g ZE RN (=& J)
= - — HE!
AR 2N B SA(BAA) - HEAME - BES O & o8 e HDE2
403 XXM S X201 498,539 549,900 A51,361
= 383,492
< 115,047
01 XXM A2E = 498,539 549,900 A51,361
O I 20 &0 WA 498,539
= 383,492
= 115,047
& ZLEDS WA X & 7,160 11,700 A4,540
= 5,508
= 1,652
403 XXM S K201 A 7,160 11,700 AN 4,540
= 5,508
= 1,652
01 AXSHMA2E = 7,160 11,700 A4,540
D& ZLEDSE X WM X & 7,160
= 5,508
< 1,652
MEHLUNPESAY 2,981,310 4,118,157 £1,136,847
= 2,590,000
= 391,310
403 Mt S E X201 H 2,981,310 4,118,157 A 1,136,847
= 2,590,000
< 391,310
01 XXM A=2E = 2,981,310 4,118,157 A 1,136,847
OMEHEHTRES ALY 2,981,310
= 2,590,000
= 391,310
AP ETH 363,350 363,350 0
= 338,000
< 25,350
403 XAXISHM S X201 A 363,350 363,350 0
= 338,000
< 25,350
01 XXM A2E = 363,350 363,350 0
OJoetog 2= 3d 363,350
= 338,000
= 25,350
o1 01 0f @ Al EYf & At 52,000 52,000 0
2 26,000
= 26,000
403 XXM S K201 ™ 52,000 52,000 0
= 26,000
= 26,000
02 SO 2SOCHEH U2 X 2 E A I 52,000 52,000 0
[JHACH & A B = At 52,000




Az BsoidER M oot
HE: ooy MeY s
el YIS RN (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
= 26,000
= 26,000
He(A)BEEZXA 759,600 735,000 24,600
308 AHAIEHHSOIA 759,600 735,000 24,600
01 HXNHHBHELS 759,600 735,000 24,600
Ood(J)2gsX & 744,000
Odge ot Ed S K& 15,600
THE NG MEEMAS 96,839 89,474 7,365
= 90,083
< 6,756
308 XX EHHSOIA 96,839 89,474 7,365
= 90,083
< 6,756
01 HXNHHBHELS 96,839 89,474 7,365
OxAd=el =M= 96,839
= 90,083
< 6,756
AL EAAR RS 156,169 151,008 5,161
= 120,130
S 36,039
403 Mt SHHSA=0l& 156,169 151,008 5,161
= 120,130
< 36,039
01 X SHMA2E X 156,169 151,008 5,161
OO0&AIDSEANASE RS 156,169
= 120,130
= 36,039
=AMSISASOHAE 20,000 40,000 220,000
201 Let24E] 20,000 40,000 220,000
03 & At2 I 20,000 40,000 220,000
O==&ISASEL0HE A 20,000
A AH A ST 1,500,000 1,500,000 0
= 750,000
< 750,000
307 21201 A 1,500,000 1,500,000 0
= 750,000
< 750,000
02 It S AIHE L 1,500,000 1,500,000 0
OO A AEXX 1,500,000
= 750,000
< 750,000
ZotASMAZIHEHX LAY 100,000 100,000 0
308 XX EHH SOl A 100,000 100,000 0




N L hEET SN AT
HE: ooy MeY s
Sl 0PI YRR CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
01 HIXNHHNBHNEES 100,000 100,000 0
OZotASMAZANFH IS HSALS 100,000
HEXNEZHHE 1,500,000 1,500,000 0
403 MtXISHHE X201 & 1,500,000 1,500,000 0
01 AXISHH A2 E= 1,500,000 1,500,000 0
OogXNEdAdE 1,500,000
HAMDAESRAHLEXR 36,000 45,000 A9,000
308 MtXIEHMSOIH 36,000 45,000 A9,000
01 AXHHILEES 36,000 45,000 A9,000
OoltMDPE=sAAHLEX A 36,000
EAMNYHESIXXNS ALY 400,000 260,000 140,000
= 200,000
< 200,000
308 A EHHSOIA 400,000 260,000 140,000
= 200,000
< 200,000
1037/ 2S0HUHeBHEAEALS HI 400,000 0 400,000
OZAAHESIIXE ALY 400,000
= 200,000
< 200,000
HOHHEZAHIO 14,750 59,000 A 44,250
= 12,500
< 2,250
308 XXM SOIA 14,750 59,000 A 44,250
= 12,500
= 2,250
01 AXHHBIYEES 14,750 59,000 A 44250
OANWAHEEAHIOI 14,750
= 12,500
< 2,250
FEHYAIHE AN 76,625 22,018 54,607
= 67,516
< 9,109
308 MtXIEHMSOIH 76,625 22,018 54,607
= 67,516
< 9,109
01 HXNHHBHEELS 76,625 22,018 54,607
OHEHGAIAE XA 76,625
= 67,516
< 9,109
FHAIA XA 17,700 11,800 5,900
= 15,000
< 2,700




BsHNE=2R M oot
S =E LR
VEEEEESTPY CERED
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
308 X EHSOIA 17,700 11,800 5,900
=2 15,000
< 2,700
01 HIXNHHBHNEELES 17,700 11,800 5,900
OFAAHIA SR 17,700
2 15,000
< 2,700
EHgBAEet 2= 18,535,786 17,773,074 762,712
2 302,375
as 9,825,000
< 8,408,411
HaAld 4,692,000 4,678,080 13,920
403 X SHHE A0l & 4,692,000 4,678,080 13,920
01 XM A=2EE 4,692,000 4,678,080 13,920
OXgoeAld 2,330,000
O 20HE A4 2,050,000
OXNgoHStMAIdLF I 22 X 264,000
O2s&gE 48,000
ol & A 1,200,000 600,000 600,000
401 Al I & 28I 1,200,000 600,000 600,000
01 A& HI 1,200,000 600,000 600,000
OXgogiesdeddasrzddae gl 900,000
OXgoHEtsagngsd 300,000
HEHS2ZO DI REZA 30,200 22,800 7,400
202 oddl 17,300 17,300 0
01 = LH o4 1l 17,300 17,300 0
OHEHS2ZUEIR2EHRFTAHI 17,300
203 YR =&l 12,900 0 12,900
03 Al =T Q2= Al 12,900 0 12,900
OEe2Zo T2 2 F2 12,900
HESESRJHEHKXI 2 500,000 0 500,000
= 250,000
< 250,000
307 glz2+ol & 500,000 0 500,000
= 250,000
= 250,000
02 HAFHAANHEEX 500,000 0 500,000
OHESS KM A 500,000
= 250,000
< 250,000
AngoeAs 3,750,000 2,321,250 1,428,750
s 3,000,000




AR SESiAgEEE 2A oA
HE: ooy MeY s
S9l: ENEBBODARE (B9 ®R)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
= 750,000
401 AlEHIZL £ 0HY| 3,750,000 2,321,250 1,428,750
Fag 3,000,000
= 750,000
01 Al&EH| 3,729,000 2,300,590 1,428,410
OXegHsHE (ZETH]) 3,729,000
g 2,983,200
& 745,800
03 Al 201 Y| 21,000 20,660 340
OXNgHS AL 2HE (@ EZHI) 21,000
Fag 16,800
& 4,200
ABUHEAIM 3,750,000 3,750,000 0
g 3,000,000
& 750,000
401 AIEHIZL 2 0HY| 3,750,000 3,750,000 0
Fag 3,000,000
& 750,000
01 Al&H| 3,716,000 3,716,000 0
20 E=AE(FEZH]) 3,716,000
g 2,972,800
o= 743,200
03 Al 24| 34,000 34,000 0
OJCZ20HEALEL2UHYI (ZEZHI) 34,000
Fag 27,200
& 6,800
=& 22 562,500 562,500 0
g 450,000
o 112,500
403 XX SHHS K20 & 562,500 562,500 0
g 450,000
o= 112,500
02 BI2SHUSXAN2ERAEAISHI 562,500 562,500 0
HZH&EH22 (FEZH|) 562,500
Fag 450,000
= 112,500
HENEISAREHEANHA 68,086 73,944 N5,858
= 52,375
= 15,711
308 XAHXISH SO0l & 68,086 73,944 N5,858
= 52,375
& 15,711
01 AIXISHHENEXZ 68,086 73,944 N5,858
COJHENE0SAMRENEX S 68,086
= 52,375
o= 15,711




A SA - SAEA) - MRAY - BES 0l &t o il HImEET
HAOHHICIS Z (A F X H) 150,000 150,000 0
403 UHXISHHSA=0l& 150,000 150,000 0
01 XM= E L 150,000 150,000 0
OoetHtti =8 d 150,000
Ea2a4ds 78,000 95,500 A 17,500
308 XX EHH SOl 13,000 13,000 0
01 HIXNHHNBNEES 13,000 13,000 0
OZgSasaIasze=2X 13,000
403 XSS X201 & 65,000 82,500 A 17,500
01 XXM 22 = 65,000 82,500 A 17,500
OoEgsiotsxd 23,000
OdEME0s=sd 42,000
Y=ot =e 32ty 1,170,000 1,300,000 A 130,000
ras 900,000
< 270,000
403 MtXISHH S A0l & 1,170,000 1,300,000 A 130,000
s 900,000
< 270,000
01 XM A=2EE 1,170,000 1,300,000 A 130,000
O MsSsdgAE (RS EHl) 1,170,000
s 900,000
< 270,000
Hge=sRa 2N 110,000 0 110,000
403 A X EHHS =0l A 110,000 0 110,000
01 X SHHXN2E= 110,000 0 110,000
Oogo=2Xs 20 60,000
OHGIHAILIMNE == 20,000
OSEe|HHA=SXMEHINE == 30,000
HACIHEHINE 1,922,000 500,000 1,422,000
s 1,922,000
403 A X EHHSH20IA 1,922,000 500,000 1,422,000
s 1,922,000
01 X SHHMA=2LE L 1,922,000 500,000 1,422,000
OASHANE ML (RS AZ) 1,922,000
ras 1,922,000
OIS EASsoeg 553,000 3,479,000 A 2,926,000
s 553,000
403 X SHHS =0l & 553,000 3,479,000 A 2,926,000
s 553,000
01 X SHHMA=2E X 553,000 3,479,000 A 2,926,000
OOISH/ASSHE(ZSAZ) 553,000




EIE LML SN YA
HE: ooy MeY s
Helr HEqS2ZAICIS (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
| e 553,000
D& A=A S 5,914,352 4,795,250 1,119,102
= 1,712,520
s 1,310,000
< 2,891,832
SAMAIHHA LS 555,200 621,200 A 66,000
307 gl2tol & 58,000 72,000 A 14,000
02 It M AHE L 58,000 72,000 A 14,000
OxaxMEHAHEEZ XA 58,000
403 UtXISHH S0l & 497,200 549,200 A52,000
01 AXISHHA=2E = 497,200 549,200 252,000
OLAEINRMESS 241,200
OSAHNFSUHUXA 50,000
OLAFALSEUIANSE 206,000
=0T AL 60,000 60,000 0
403 MtXISHHE X201 & 60,000 60,000 0
01 AXISHH A2 E= 60,000 60,000 0
OUW=8uZAl4 60,000
== AHTHOH O 24 & 2 A H 70,000 70,000 0
308 MtXIEHMSOIH 70,000 0 70,000
01 AXHHILEES 70,000 0 70,000
[ ==&FTH off Ol 2 2 2 Al I 70,000
GOt A& =4 378,000 420,000 A 42,000
403 UHXHHSA=0l & 378,000 420,000 A 42,000
01 HXSHMA=LE X 378,000 420,000 A 42,000
At =& X A 378,000
OISHEE 435t 779,500 784,000 A 4,500
308 XXM SO0l A 65,500 70,000 24,500
01 HIXNHHBNEES 65,500 70,000 24,500
OF=0PAUSH X 65,500
403 XIS E X201 & 714,000 714,000 0
01 AXSHHMA2E = 714,000 714,000 0
Ot 2l A 714,000
S AU UG 37,380 23,500 13,880
201 Let249] 16,180 7,300 8,880
01 At 22l 16,180 7,300 8,880
O=2g=¢ 1,300
OB =gosl2Idfaasdsd 1,300
[E=3=q:] 14,880




N L hEET SN AT
HE: ooy MeY s
B EEEEIE (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
O3S HALBFGRFE S A 14,880
202 044l 21,200 16,200 5,000
01 = LH 4 1l 21,200 16,200 5,000
OS2t MUt LARFE N 21,200
FUSSHEHRASS 70,000 70,000 0
= 70,000
403 A X EHHS =0l A 70,000 70,000 0
= 70,000
01 X EHHMA=LE L 70,000 70,000 0
OxcttsSHeHSS 70,000
= 70,000
=MSTHY LS 717,025 612,750 104,275
o 667,000
=) 50,025
403 Ut SHHSA=0l& 717,025 612,750 104,275
2 667,000
& 50,025
01 HXSHMA2E X 717,025 612,750 104,275
O==&SHHYER(ZSEHI) 717,025
s 667,000
< 50,025
HEHAXRE22SSHAA 124,000 570,400 A 446,400
= 100,000
< 24,000
403 XIS E X201 H 124,000 570,400 A 446,400
= 100,000
< 24,000
01 X SHHX2E = 124,000 570,400 A 446,400
Oogiadsael SSHAA 124,000
= 100,000
= 24,000
F=MSTHLEFS WA 191,250 100,000 91,250
s 153,000
< 38,250
403 A X EHHS 20l A 191,250 100,000 91,250
s 153,000
= 38,250
02 S 2S0Het A=A 2 & ArS 191,250 100,000 91,250
OxMSUYFSBTAM(ZETH]) 191,250
s 153,000
= 38,250
HEEAHRES ALY 61,097 62,400 A 1,303
= 47,520
< 13,577




A= SHSdXEEs M oA
HE: LM P AL
S SEXSMEHUOSESAS (&2 &)
AR RA BB OBH) - MBEAY - BAS O Ak o8 ﬁlf& HD=2
403 XX S S X201 A 61,097 62,400 A 1,303
= 47,520
= 13,577
01 HXHNMAHEBEE = 61,097 62,400 A 1,303
ORSZLES ALY 61,007
2 47,520
o= 13,577
SoHOtoll A LAl AT = A 637,000 637,000 0
Rag 490,000
& 147,000
403 XX S M S K201 A 637,000 637,000 0
fag 490,000
& 147,000
01 MXHHE2BE = 637,000 637,000 0
OSolotoll A LA MA R H (R E THI) 637,000
hag 490,000
= 147,000
SHMS PN ALY 206,000 206,000 0
= 206,000
308 XX S M SO0l & 206,000 206,000 0
= 206,000
01 AXHNBIMNEXZ 206,000 206,000 0
ORMMESFRMAL (EX) 206,000
= 206,000
D=2 SKNEAAS 200,000 0 200,000
= 200,000
403 XXM S K201 A 200,000 0 200,000
= 200,000
01 XHNMAHEBE = 200,000 0 200,000
On+20S XA 200,000
= 200,000
HEHAAAMNHHE MG 1,209,900 0 1,209,900
= 1,089,000
& 120,900
403 XX S S K201 A 1,209,900 0 1,209,900
= 1,089,000
= 120,900
01 MAXHHAEBE = 1,209,900 0 1,209,900
OSAMNFESHBHNHXNESALS 1,032,900
= 939,000
= 93,900
OFAME A2 EH ALY 177,000
= 150,000
& 27,000
SHUHHNRLE SAS (ZIEEHIH) 300,000 240,000 60,000
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403 UHXSHHSA=0l& 300,000 240,000 60,000
01 X SHMA2E X 300,000 240,000 60,000
OSHUAXR S S A 300,000
H=HESHIESAY 18,000 18,000 0
308 XXM SO0l A 18,000 18,000 0
01 IXNHHBNEES 18,000 18,000 0
OUWsHESHRES MY 18,000
SoHAHMEHSHSANE A 300,000 300,000 0
403 MHXISHEA=01 & 300,000 300,000 0
01 X SHHX2E = 300,000 300,000 0
DSt MBS SAIE A 300,000
dEst=MESS 4,918,920 5,771,533 A 852,613
= 115,000
s 1,649,000
< 3,154,920
= AHEHE S E DL HI K& 20,000 20,000 0
307 21201 A 20,000 20,000 0
02 It S AHE L 20,000 20,000 0
O s F L3 H XA 20,000
FUERSHA 600,080 764,100 A 164,020
403 X SHHSA=0l& 600,080 764,100 A 164,020
01 HXHMA=E X 600,080 764,100 A 164,020
O==&SEHENLIRAZIIXA 267,800
O=tMSHel MEAMEX 190,480
OXNAS=LSIHSAEASY 90,000
O=s=X¥ NN 51,800
NEEs =42 AHFA 80,800 80,800 0
308 XtXIEHHSOIA 80,800 80,800 0
01 AXHHILEES 80,800 80,800 0
OXNSEEst=aMSAHEA 80,800
0SS A S 2o 2 A 22l (HACCP) & I XI & 90,000 90,000 0
403 UHXSHHSA=0l& 90,000 90,000 0
01 HXSHMA=E X 90,000 90,000 0
O=aSIt3 A& 261 2A 22 (HACCP) &8 HI X & 90,000
A =45 AHIXTE 29,250 43,470 N 14,220
308 XX EHSOIA 29,250 43,470 A 14,220
08 WEIIA20HStE = 29,250 43,470 A 14,220
OXG =4z AH X 29,250
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219,000

SN FE - EA(EA) - HRAL il HImEET
HEEHANRF=SHXAJ 80,000 100,000 A20,000
308 AHAIEHHSOIA 80,000 100,000 A20,000
01 HXNHHBHELS 80,000 100,000 A20,000
OodECNER=S 80,000
HYERFJHXA 511,700 507,000 4,700
308 XX EHH SOl 511,700 507,000 4,700
01 HIXNHHNBNEES 511,700 507,000 4,700
OogEessdlXa 511,700
QINRPMSHA2SHIXR 11,970 14,700 22,730
308 XXM SOIA 11,970 14,700 22,730
01 AXHHBIYEES 11,970 14,700 A2,730
O RaSoHa2SHIX 11,970
EHSEaAHs 33,000 33,000 0
308 XX EHHSOIA 33,000 33,000 0
01 X HHIBLEXS 33,000 33,000 0
OHEdsS2stAs 33,000
HRAHEHLEE A2 X 5,000 5,000 0
307 gl2tol & 5,000 5,000 0
02 PIZHEHAHE L 5,000 5,000 0
Ol &L E 23 X 5,000
Hgoall=d=2g 75,920 76,263 A 343
308 XXM SO0l A 75,920 76,263 A 343
01 IXNHHBNEES 75,920 76,263 A 343
sNMEEXES 65,000
Ofx=0gelofel = 10,920
St EsSF 16,200 21,700 A5,500
202 O4dl 16,200 16,200 0
01 = LH 4 Hi 16,200 16,200 0
Oddet=MEZ2Y 16,200
AS LRSS AIE 948,000 1,053,000 A 105,000
s 729,000
< 219,000
403 X SHHE A0l & 948,000 1,053,000 A 105,000
s 729,000
= 219,000
01 XM A=2EE 948,000 1,053,000 A 105,000
O=&S XIS AIE 948,000
729,000
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QAIZOoNMA=ATA 77,200 96,500 A 19,300
308 XAHXIEHSOIA 77,200 96,500 A 19,300
01 AIXSHMENEX= 77,200 96,500 A 19,300
dRodASAT 77,200
Q20N RACALHI X AS 10,800 0 10,800
308 XX EHSOIA 10,800 0 10,800
01 AIKISHHEMNEX= 10,800 0 10,800
Q=IZOoANMRACAH 2K AS 10,800
AN 22 X H 100,000 0 100,000
308 XAXIGHHM SO0l & 100,000 0 100,000
01 HXHHIMNEXZ 100,000 0 100,000
OA8gdord 22| X & 100,000
NG HLAMAMEZTMARS 390,000 944,000 A 554,000
g 300,000
o 90,000
403 XX SHH S X201 A 390,000 944,000 A 554,000
g 300,000
= 90,000
01 XS A2E X 390,000 944,000 A 554,000
OXNAMELAMAEZMASH(RFETH]) 390,000
Fag 300,000
& 90,000
HAAOIEHEH X & 120,000 120,000 0
307 2iz2to| & 120,000 120,000 0
02 QI AAIE E X 120,000 120,000 0
OHAIOFEHZH X & 120,000
HeYWsSZ2HEHIHE 4 168,000 200,000 A 32,000
403 XX SHS K20 & 168,000 200,000 A 32,000
01 AAXHHN2E = 168,000 200,000 A 32,000
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SMEATE IS AL 100,000 0 100,000
403 XX S M S K201 & 100,000 0 100,000
01 MHXHHNE2BE = 100,000 0 100,000
Ot A TEH IS Al A 100,000
SMECSTEINE =B A 20,000 0 20,000
403 XX SHS K201 & 20,000 0 20,000
01 XIS A=2E X 20,000 0 20,000
O ESATEINE =2 A 20,000
HEHEANMIBOASH D= 5,000 5,000 0
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20199 = =20l &t e H &K

AR sslEEs SN ot
FM: HorEt AT
SRl : CIOHOI Xl & 22| CEERED)

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
SotEF 21,927,145 19,576,270 2,350,875
= 2,374,000
s 9,176,000
N 313,700
< 10,063,445
oot A &l 6,389,225 9,536,925 A 3,147,700
= 17,000
s 4,098,000
EN 313,700
< 1,960,525
o OO I HI A 2t e 6,389,225 9,536,925 A 3,147,700
= 17,000
s 4,098,000
EN 313,700
< 1,960,525
o OHEHIALY 4,286,000 7,090,000 A 2,804,000
s 3,658,000
< 628,000
207 RO 754,000 600,000 154,000
s 528,000
< 226,000
01 284 754,000 600,000 154,000
OOt AMAMEI ZAH(ZSEHI) 754,000
as 528,000
< 226,000
403 XSS A=0l& 3,532,000 6,490,000 A 2,958,000
s 3,130,000
= 402,000
01 X SHMA2E X 3,532,000 6,490,000 A 2,958,000
Oot™H At (2SS < HI) 3,532,000
s 3,130,000
< 402,000
H=2EHHOJALFZH LS 190,000 190,000 0
403 MtXISHHE X201 E 190,000 190,000 0
01 X SHHAN2E = 190,000 190,000 0
O=2HEAANLEHILES 190,000
T HSULMY D00 AL 390,000 356,200 33,800
s 300,000
< 90,000
308 MtXIEHMSOIH 390,000 356,200 33,800
s 300,000
< 90,000
01 HXNHHBHELS 390,000 356,200 33,800
OZgSALMYI AL (B S =) 390,000
as 300,000
< 90,000




EIE LML SN 2R
M ClorE R FY|
SRl : CIOHOI Xl & 22| CHel & 2 )
= - — SHE|
2RI BIEH) - HRAY - BES e Hl D= 2t
H=SHUNHIZAXRAXS 234,500 196,000 38,500
N 234,500
308 XXX SO0 A 234,500 196,000 38,500
N 234,500
01 AXSHBAELS 234,500 196,000 38,500
OB AXZRAAAL X 185,500
EN 185,500
Oofl+==&FIRXIAIYHIX 49,000
e 49,000
S 4 01 XI A2 CH 2] OH = 27,000 27,000 0
308 XX EHHSOIA 27,000 27,000 0
01 X HHILEES 27,000 27,000 0
CJoHHHI X AFA CH S OH = 27,000
Hltel=A0=LESHAUALS XA 27,000 27,000 0
308 XXX S0 27,000 27,000 0
01 AXSGHBLEES 27,000 27,000 0
Oofitel=HA12YdES2MILZ XA 27,000
SCoH MY I =HAY 50,000 70,000 220,000
308 XXIEHH S0 A 50,000 70,000 A 20,000
01 AXNSHHBLAEES 50,000 70,000 220,000
OsSEoi Mg Ils=HAS 50,000
HeEsA e At (2 &) 20,500 20,500 0
= 17,000
< 3,500
308 XX EHHSOIA 20,500 20,500 0
= 17,000
< 3,500
01 XML EES 20,500 20,500 0
OdfeEs A At (F4) 20,500
= 17,000
< 3,500
oI OFTHOH & Xl Al & & X 497,000 447,000 50,000
403 A X EHHSH20lA 497,000 447,000 50,000
01 HXSHMA=LE L 497,000 447,000 50,000
OO Y XAl E & Xl (FQE0) 497,000
CIOFOI X A A 2t el =& F Hl 24,025 24,225 A 200
201 LB-2dH| 9,725 9,725 0
01 At 2t 2l 9,725 9,725 0
Oger==&H| 9,725
OMNRUUSSANES 6,725
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M ClorE R FY|
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A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
OMNeEEFES 3,000
202 044l 10,000 10,000 0
01 = LH 4 1l 10,000 10,000 0
A M A & 2tel =& O bl 10,000
203 YR =&l 4,300 4,500 A 200
03 AIEZ=AH 2 =AH| 4,300 4,500 A 200
OdetdEd ge=a 4,300
OHMe D& SHALS 182,000 182,000 0
s 140,000
= 42,000
403 XM SA=0l& 182,000 182,000 0
s 140,000
< 42,000
01 HIXSHMA=2E X 182,000 182,000 0
OoHLMeIIZSASE (RS EHI) 182,000
s 140,000
= 42,000
M D=1 AL 200,000 200,000 0
308 XXM SOIA 200,000 200,000 0
01 AXHHIYEES 200,000 200,000 0
Ol LMY I =HAIS (F2AEA) 200,000
HEHH2SME S AINE XA 28,000 42,000 A 14,000
308 MXIEHSOIH 28,000 42,000 A 14,000
01 HXNHHBHEELS 28,000 42,000 A 14,000
OXSoiH S XS & AR E X & 28,000
HIGEEEE X2 M E A X 90,000 90,000 0
403 Mt SHHSA=0l& 90,000 90,000 0
01 HXSHMA2E X 90,000 90,000 0
OHtE @3N JAEEHEX 90,000
H=2FOAHELX 64,000 120,000 256,000
403 MtXISHH S0l & 64,000 120,000 256,000
01 XM A=2E X 64,000 120,000 256,000
Ool==& 02 XHE L 64,000
SHOMRIAHRE & (2 A EHI) 31,200 0 31,200
EN 31,200
308 XtXIEHH SOl A 31,200 0 31,200
EN 31,200
01 AXHHILEES 31,200 0 31,200
CIoH ORI KH 2 2 2 (2 Al &+ HI) 31,200
N 31,200
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A SA - SAEA) - MRAY - BES 0l &t o il HImEET

HOTH M AR R (E2F) 48,000 0 48,000
N 48,000

403 UHXSHHSA=0l& 48,000 0 48,000
N 48,000

01 X SHHMA=E L 48,000 0 48,000
Ot MR 2 (22a) 48,000
EN 48,000

= off OHoH 2F O & 6,538,525 5,023,725 1,514,800

OHY 2B TURML LA L ES 1,251,000 1,233,000 18,000

SENLNS WSAA (I AT AIH) 1,233,000 1,233,000 0

403 X SHHSA=0l& 1,233,000 1,233,000 0

01 X ESHMA=LE L 1,233,000 1,233,000 0
O2goigdhstnsHAGAS 1,233,000

HHCHel S & AR X & 18,000 0 18,000

308 XXM SO A 18,000 0 18,000

01 IXNHHBNEES 18,000 0 18,000
CIHtCH2l & 8 ARHI X & 18,000

oo E=sH 5,287,525 3,790,725 1,496,800

IS0 AHHARAKX S 907,000 860,000 47,000

306 =3 880,000 833,000 47,000

01 &3 880,000 833,000 47,000
JZS2H0AAHAAAL2A XA 880,000

308 XXl EHH SOl A 27,000 27,000 0

10 3J/2S0HUHeE A ALS HI 27,000 27,000 0
OoHSHI0IRLEZ A X H ALY 27,000

ZEoidZHNA 12,000 12,000 0

307 glz2tol & 12,000 12,000 0

04 DIZHHALALSE E X 12,000 12,000 0
OZsoig=y 12,000

ZaHdUoteAHOIUS =SS X XA 1,000,000 1,000,000 0

308 XXM SOIA 1,000,000 1,000,000 0

01 AXHHBISEES 1,000,000 1,000,000 0
OESSILOSHHEOIUSZER XX 1,000,000

FENIHEMHXJA (A X ) 100,000 100,000 0

307 21201 A 100,000 100,000 0

02 QB AAFEX 100,000 100,000 0
OZENIHEMHR A 100,000

oH A SHFA S| 23,525 23,725 A 200
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43 sEHNARS SN AATRATA
B USRS ZEE A
et A RREA CEEEED
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
405 XHoHF SHI 25,000 10,000 15,000
01 Mt =S FSHI 25,000 10,000 15,000
O399 a43y 7 20,000
ORaAHTY 5,000
MAD|BEAIE S S 390,000 790,000 A 400,000
201 L2 H| 100,000 100,000 0
02 332Z 4l 100,000 100,000 0
OAIE &Hl K AlH]| 100,000
OANEARANE S 2L 100,000
401 AIEHIL 20| 290,000 690,000 A 400,000
01 Al& Bl 290,000 690,000 A 400,000
OctoldEFESSIEZT T WA 200,000
OF+-2=FUol =S A A F B 30,000
Od2+BS AL LT 40,000
ESEST Ry e Py 20,000
ANEHARHSHY 125,000 115,000 10,000
201 et A | 10,000 10,000 0
01 AFR2t2l Yl 10,000 10,000 0
ggset=gH| 10,000
ONEHREDNMLAMOILLEERZ RO 10,000
202 (4] 15,000 15,000 0
01 2L Y| 15,000 15,000 0
O==0T3HRE=X0 I 15,000
206 M = Hl 30,000 30,000 0
01 X 2 Hl 30,000 30,000 0
OAMEHRHSHL A EEFRLY 30,000
207 A O Y| 68,000 58,000 10,000
03 A& FH| 68,000 58,000 10,000
OMEEANEAF 38,000
OdMSEN0I 7 20,000
OY0ol M= 8,000
OXHAI=EHIEAIZ 8,000
OUSLI AN 2L 2,000
OOSoHOtIIXIOI B AIEH R 30,000
[@)0; Hnl el 15,000
OZHDOIOFE Z=IIAlE 10,000
OUTLI AN 2L 5,000
405 XHakF SHI 2,000 2,000 0
02 & A7l 2,000 2,000 0




42 gEHKARE SN AATIRARA
X HOSsESXIIA4E
Sol SMTREY CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2

O&Ed7e 2,000

Stol & O = & &t 150,000 220,000 A70,000
s 120,000
< 30,000

201 Ler2 | 20,000 40,000 20,000
s 16,000
< 4,000

01 At 22l 20,000 40,000 220,000
gpt==Hl 10,000
OSHEHRLAEBEMEAS(ZSEHI) 10,000
s 8,000
< 2,000
o=l 10,000
Ot SMASFESIE R (2 SEHI) 10,000
as 8,000
= 2,000

202 oddl 10,000 10,000 0
s 8,000
< 2,000

01 = LH o4 1l 10,000 10,000 0
Ot SMMARFX(ZS T HI) 10,000
s 8,000
< 2,000

206 i 2 bl 30,000 60,000 A30,000
2 24,000
= 6,000

01 =8l 30,000 60,000 230,000
Od0sHM4EEFL(ZEZH) 30,000
s 24,000
< 6,000

207 R4 2l 85,000 85,000 0
o 68,000
< 17,000

03 Al & 12l 85,000 85,000 0
OJdld g (ZFEZH) 85,000
s 68,000
< 17,000

301 et A= 5,000 5,000 0
s 4,000
< 1,000

09 &AL HIZB &S 5,000 5,000 0
O0SZAI=230gAdnEs A (FSZHI) 5,000
s 4,000
= 1,000

SHINOIRSESAEEE= 70,000 80,000 A 10,000




P ELE
- _ _ RE]
SR EE . (AN) - MEAY - BAS ol &k o8 %@ﬁ

Fag 56,000
& 14,000

201 LBt 9| 10,000 10,000
Fag 8,000
= 2,000

01 AP 22| H| 10,000 10,000
OBt =H| 10,000

ONHIIA=CEZTANAMESE=ELELESHE(ZET

Hl) 10,000
= 8,000
o= 2,000

202 04| 5,000 5,000
Fag 4,000
=} 1,000

01 2L Y| 5,000 5,000
OSHIIXOISESIEZEEESHLRZRN(FETH]) 5,000
Fag 4,000
& 1,000

207 A0 | 33,000 33,000
g 26,400
== 6,600

03 A& 32| 33,000 33,000
OSHIIXN0I S ESIEEES (25T H) 33,000
s 26,400
= 6,600

307 QI2t0| ™ 20,000 20,000
Fag 16,000
= 4,000

05 QIZtREZ 20,000 20,000
(SESIETHLEHEHH AL RXASHRETH|) 20,000
g 16,000
&< 4,000

405 XHo&HF S HI 2,000 2,000
g 1,600
= 400

01 XA 2 F S H| 2,000 2,000
Joolds2eedtedl 2 (@S <) 2,000
= 1,600
=} 400

CLSANEHRASHE S 500,000 500,000
Fag 250,000
= 250,000

401 AlEHIZL 2 0HY| 500,000 500,000
= 250,000
= 250,000

01 Al& H| 496,400 496,400




SRy SN AT
SR ESIIN
ATHEE A

A SA - SAEA) - MRAY - BES 0l &t o il HImEET
OLFHIRSHESSAM(ZETHI) 496,400
s 248,200
< 248,200
03 Al S HHI 3,600 3,600 0
OLFARSHESSAAIEEUHEI(ZSEHI) 3,600
s 1,800
< 1,800
A2 2t 372,800 201,100 171,700
OtSC2E At= Xl 22l 372,800 201,100 171,700
201 Let24d] 102,800 101,600 1,200
02 =24l 102,800 101,600 1,200
02322 LA 44,800
Odot=e= 8,400
(OFSI- 3 TE=, 6,000
O=2UNEBIIHRI(NEHEHH) 7,200
o283 19,200
ONSXHEE = (3U) 3,000
OXsHsANEREE S S 1,000
Al & & Hl = Xl 48,000
OEMEEIMFTRNESS 30,000
(OFSIP R SR Fol ety = 18,000
PN = Falgs 10,000
Oz2xgsX el 10,000
307 21240 & 20,000 49,500 A 29,500
05 RIZHRIEF 3 20,000 49,500 A 29,500
OFAE 22 EA 20,000
401 AIEHI L 2 CHYI 250,000 50,000 200,000
01 A& HI 250,000 50,000 200,000
OzelAm=saXS 4R 50,000
OARASECI DA 200,000
HHSAAH (SATRATL) 1,676,111 1,636, 187 39,924
ol 2 gl 1,534,908 1,490,150 44,758
ore 2oyl 1,534,908 1,490, 150 44,758
101 @14 Hl 1,502,568 1,457,990 44,578
01 2= 997,151 1,052,766 Ab55,615
OJ12= 738,839
O ESH 164,586
-4 87,373,000& »1H 87,373
- 77,212,800& x1H 77,213
Oz=H 533,292




O

O o0oog

S SN SMTRADL
U (=& H2A)
CHE - E(BH) - NRMY - BYS 0l &k o4
-62(1688) 3,390,000& x4H x12& 162,720
-7=2 (158 8) 2,997,500 x2H x 123 71,940
-82(95 =) 2,265,200 x4H x 123 108,730
-9=(588) 1,732,300 x1H x12& 20,788
- MRAH208 ) 3,523,200 x4H x12& 169,114
OFSE=Eal=s 382,090,800% *1/12x50%*23] 31,841
(OFSFer =) P = 9,120
- 25480l & 130,000& «1H 128 1,560
- 204 0l &f~25 0] 8t 110,000& 1H 128 1,320
- 15401 & ~20E 0| 2t 80,000 x3H » 128 2,880
- 104 0l &f~15E 0| 2t 60,0003 x3H 128 2,160
- 5@ 0l &~10& 01 2t 50,000 x2H x12& 1,200
=4 161,371
OANMZ 2R 120,395
-HA=2 11,4013 x10Al 2tx16H 128 21,890
-ZUE 11,4012 »45A| 2t 16H « 128 98,505
OfEs=E 19,080
- BH X 40,0003 x17H 128 8,160
- JIEHOLS 20,0003 x40 x128 9,600
- It 3 30,0003 x 18 «12& 360
- b3 80,0003 x 1 128 960
oxMdstdlExz=4 3,747
-sSsH 468,300& x2H x43] 3,747
OfIg2f+% 1,080
-23 50,0003 x 1 123 600
-83 40,0003 x 18«12 480
OREsRIY 50,000& x1H 128 600
OS¢ 6,509
-5 3,307, 100& *4. 1%*4H 128 6,509
OS2 9,960
-Jl=38sE 5,160
B =a= 30,0003 x4 128 1,440
- 82 20,0003 x»4H 123 960
JbaEZ (D1 AL) 30,000 x5 123 1,800
Jb&EZ2 (AFDIAN) 20,0002 *3 122 720
I3 (2E ) 20,0003 x 18 128 240
-HPURE 4,800
HARANZRR 80,000& x5H 123 4,800
ZAHZ A 130,000& x17H 128 26,520
YE SO 382,090,800% *1/12x60%*23] 38,210
GO &l
709,652,000 *1/12*86%*1/30% 19 32,211

=

i
2m




=N SN SARRATA
HRgRY (24T L)
S
2 RA - ZE-BR(HN) - HEAY - BYS il &t o il
03 RIAHAZ 22+ 505,417 405,224
Od&E2el8X 54,373
OoJlzs 2,046,150 x1H « 123 24,554
o&N= 2,046, 1503 » 1 x400% 8,185
Odxt=¢ 2,046,150 /209%8%252 1,959
o254 2,472
- 104 0l &f
((10%14,000% )+( (16 -10E )x11,000& 2,472
))+128
OPIE=E= 480
- i< Xt 40,000& x1H » 128 480
(OFNE=3-EN 60,0003 x1H 123 720
OZEFOtHI 700,000 1 %23 1,400
O&FHZ A 130,000& 1H 128 1,560
ONZeRS2g
9,790& *1. 5% 10AI 2Hx1H 123 1,763
SIH-EL PN
9,790& *1.5+8Al 2t x1H 4L » 128 5,640
Ogae+Y
9,790& *1.5+8Al 2tx1H 4L » 128 5,640
OSRYUMEBXS 400,644
OJdles 1,573, 7703 11H « 123 207,738
O&0= 1,573, 770& x 11X x400% 69,246
OAx=< 1,573,770 /209%8*9H x 15 8,133
OF=E=E = 11,976
- 104 0]¢gt 58 %14 ,000& x12& x9H 7,560
- 104 01 &f
((10&*14,000& )+((14E-10E )*11,000& 4,416
)) 128 «2H
O=E=g 10,080
- B Xt 40,0003 x 118 «128 5,280
- JIEHOEE 20,0003 x20H x 128 4,800
ondstdlExz=4< 500,000& x2& *43| 4,000
Ons&EXH 60,0003 x 118 128 7,920
OFE S ItHI 700,000& 11 #23| 15,400
O&F MU Z Al 130,000 *11H »12& 17,160
OANM2AZRE
7,530 *1.5%x10A1 2H+x0H x 128 12,199
OERIfs+Y
7,530 *1.5%8Al 2tx9H +2 2 » 12 19,518
Osg=2x*2sH
6,664 x1.5«8Al 2tx9H +2 2 » 12 17,274
o=l 2,400
ONEEFLEESE0N I 8,000
5 AtE 28 40,000
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A614
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AT20

480

A 1,200

H3r
Wikd
RIS

32,160
32,160

146,037
146,037

103,557
102,957

600

18,000
18,000

9,980
3,300

680

6,000
6,000
6,000

Off &t 24

32,340
32,340

4,800
3,000
14,880
3,360
6,300
141,203
141,203

102,943

102,343
35,949

2,400
14,000
10,000

9,549
53,020
53,020

1,700
1,700
11,674
11,674

600
600
600

18,000
18,000
18,000

9,260
3,300
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1
1
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N = A

D RIENIIHFAME

A=
Hu: 20 NAELUMHHER 2SS
e AS2DNI|IMEIHE2R2H (2 &HH)
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 gﬁ‘&i HR=2
OFAIHBAEFRL 5,000
401 A& H|IZ 2 0HY| 362, 160 196,044 166, 116
01 Al& B 360,000 195,000 165,000
=8t DA AEN(LSS) 2 2 20,000
O8AIE=ZE S 20,000
[mR=Ig=N=-gepl.g=1hm | 20,000
ONHE2L2HAIEE S 100,000
JSHHEAZME = 200,000
03 Al& 20| 2,160 1,044 1,116
OAIE 20| 2,160
LHESH RS 796,040 892,817 NI, 777
MAFD|BEAIE & S 221,440 320,000 A 98,560
401 AIEHIZL 201 Y| 221,440 320,000 A 98,560
01 Al&H| 220,000 317,840 A 97,840
LS Z2UHYS=EE Y 20,000
OWs=SHAEHINE > 200,000
03 Al 201 Y| 1,440 2,160 ANT20
OWSHAIEHEINES=SAE 20U 1,440
AMEAZTHSHE 100,900 115,000 A 14,100
201 LBt Y| 35,000 40,000 A5,000
01 AP 22| H| 10,000 15,000 A5,000
OBt &H| 10,000
OANEAHARAILEE DN SR 10,000
02 2224 H| 25,000 25,000 0
sz 4| 20,000
OANEARZAHBII2AHAZ I 20,000
[ XH&k & BHy| 5,000
OANEAIZTIAHS I E X = Xl ] 5,000
202 o4 H| 7,000 5,000 2,000
01 2L I 7,000 5,000 2,000
OANEATZTHSMEN ZAIL M E S & H 7,000
203 € R F & 2,900 3,000 A 100
03 Al =& Q2 F 2,900 3,000 A 100
EEEPE RS 2,900
207 I & 55,000 65,000 A 10,000
03 A& ot 2t 55,000 65,000 10,000
OANEARZHSLHOIOF2 L 15,000
OdgugsdddRd 15,000
OAEHAZEH0I 27 15,000




SETE LT SH U2 MHE
MM H>HOHUNFZHLME HE2SY
©@e: Wy (&2 &)
AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
OANEARZI| XL 10,000
405 XtabF SHI 1,000 2,000 A 1,000
02 & A7t 1,000 2,000 A 1,000
AT 1,000
S At A2 473,700 457,817 15,883
101 @121l 16,700 4,217 12,483
04 J|I2ZtH2ZXNEE S 16,700 4,217 12,483
OdHEXNEHGEY 66,800& x2H x35 4,676
OSXMAD 2N 22 X2
66,8003 *1H %180 12,024
201 et A | 99,000 98,600 400
01 AFR2 22l Yl 9,000 8,600 400
OBt ZH| 5,000
OS KM A EF=EH| 5,000
o= sl 4,000
OEZRANHG = 4,000
02 35244l 90,000 90,000 0
O 24l 30,000
O ASII2AHAZ | 30,000
O A& &#HI S X8I 55,000
OZ A AAIE & HI S K22l H] 55,000
PG Fal=sl 5,000
OXNESSHL 22l ] 5,000
202 04| 23,000 20,000 3,000
01 2LH O HI 23,000 20,000 3,000
OHESSHHASOILLMATIAS A S E H 0 Y 3,000
OEMHBSMELESZANYI 10,000
OWz=H"HANHSEZ AN ] 10,000
206 T 24 160,000 160,000 0
01 X bl 160,000 160,000 0
O=x=J1g072¢ 30,000
CJHiE At 2 & 100,000
OdHEZEHRENARE2EFY 30,000
207 A IR &b 175,000 175,000 0
03 A& Y| 175,000 175,000 0
REDNET - PNPIDNDV s gel] 80,000
S XA A= 2l 15,000
O9EXNgEsE P2 15,000
OJB3=SoHot 7 ot & MEHH S AL 2 & 15,000
O3 g803s2 20,000




DI FHE

O

= A

X0 X0
I Ki KA
M on) oF
B R R
R3S
i 8) 8l
o <F <

WSS

&
< RO

<

n0

Kio

Hl w

A 335,992
A 335,992
14,512
14,512

AT7,004

AT,004

59,638

76,928

76,928

H3r
Wikd
RIS

770,879
770,879
41,868
41,868

364,500

364,500

21,011

1,342,433

1,201,387

1,201,387

Off &t 24

10,000
20,000

56,380
56,380

7,014
17,970
23,380

434,887
434,887

8,016
364,500

364,500
269,500

200,000
25,000
30,000

12,000

2,500
20,000
20,000
65,000
60,000

5,000
10,000
10,000

14,007

14,007
8,790
2,928
1,464
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625

1,402,071

1,278,315

1,278,315
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HH - G (3H) - NEAY - BAS O 4t o8 il
=2 511,262
O EH 73,349,000 x1H 73,349
Oz A 393,593
-3 (172 2) 3,459,700& x1H x12& 41,517
-72(1582) 2,997 ,500& x4 x12& 143,880
-82 (218 8) 3,022, 700& x2H x12& 72,545
-932 (62 2) 1,813,200& 2 x12& 43,517
-HRA(25EE) 3,838,900& x2H x12& 92,134
(GRS =, 393,593,000 *1/12%50%*23] 32,800
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